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- Programming Sites

- Backjoon Online Judge: https://www.acmicpc.net/

- AlgoSpot: https://www.algospot.com/judge/problem/list/
 LeetCode Online Judge: https://leetcode.com/

- Project Euler: https://projecteuler.net/

« CodeCombat: http://codecombat.com/
- Code.Org: https://code.ora/
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#include <s

#define

#define

#define
#define
#define

#define

#define

#define

#define

print map ( map [] [MAX LENGTH],

i < n; i++4){
( J =0; J <m j++)

printf ("%d ", map[i][j]);

printf ("\n") ;
}
printf ("\n") ;

=2 = AsLCL
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int move (int map[] [MAX LENGTH], int

*row, int *column,
= *row;

*column;

switch (direction)
{
ct+;

c—=;

r—-;

r++;

}

if (maplr][c]
*row = r;
*column = c;
return 1;

}

return 0;

int direction) {

break;
break;
break;

break;

EMPTY) {

int back (int
*row, int *column,
int direction) {
int r = *row;
int ¢ = *column;
switch (direction)
{

case

case

case

case
}
if (mapl[r][c]
{

*row = r;

*column

= c;
return 1;

}

return O0;

% 280l M2 row/column g2tS update &tLIC}
move/back2 EtUZ =SS LICL CtE D E= L.

map [] [MAX LENGTH],

void rotate(int * d)

NUM DIRECTION;

¥ modular

3| &&= A ASLIC

HALME O Boll =HUI2



for ( i ; 1 < NUM _DIRECTION; i++) ({

m, r, c, d; if (move (map, &r, &c, d)) {
map [MAXiLENGTH] [MAXiLENGTH] = {0,1};

clean cnt = 0, move cnt = 0; move cnt++;

is moved = 1;

is moved; break;

}
rotate (&d) ;

scanf ("%d %d", &n, é&m);

scanf ("%d %d %d", &r, &c, &d);

for ( i =0, 1 < n; i++) }

for ( j = 0; J < m; j++) if (is moved == 0) {

scanf ("%d", &map[i][Jj]):;
if (back(map, &r, &c, d)) move cnt++;

while (1) { else break;

if (mapl[r][c] == EMPTY) ({
}

clean cnt++;
printf ("\n%d $d\n", clean cnt, move cnt);

map|[r] [c] = CLEANED;
print map (map, n, m);

return 0;

is moved = 0;




#include<stdio.h>

main () {

N, M, row, column, direction;

clean = 1, move = 0, turn count

backing = 0;
Matrix[10][10];
scanf ("%d %d", &N, &M);
scanf ("%d %d %d", &row, &column,
&direction) ;
for ( i =0; 1 < N; i++) {
for ( J = 0; 3 < M; j++) {

scanf ("%d", &Matrix[i]I[J]):;

Matrix[row] [column] = 2;
while (1) {
if (direction == 0) {

if (Matrix[row] [column+1]
directiont+;
turn count++;

}

else {
column++;

Matrix[row] [column] =

turn count = 0;

move++;
clean++;

backing = 0;




(direction == 1) {
(Matrix[row+1l] [column]
direction++;

turn count++;

{
row++;

Matrix[row] [column] = 2;

turn count = 0;

move++;
clean++;

backing = 0;

>d $d\n",

clean, move) ;

= 0; 1 < N; it++) {

printf ("%d ",
}
printf ("\n") ;

J < M; j++) A

Matrix[i] [J]);
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#include <stdio.h>

#include <stdlib.h>

sweep ( pos, M) {
row=pos[0];
col=pos[l];
if (* (MaptM*row+col)==9) {
* (Mapt+M*row+col)=2;
total++;
}

check( row, col,

if (* (MaptM*row+col)==0) reverse( pos,

reversed= (*d+2) %4;
else if (* (Map+tM*row+col)==) move (pos, &reversed) ;
return -1;

return 0;




search ( pos,
row=pos [0];
col=pos|[1l];
cnt=0;
while (cnt<4) {
switch (*d) {
case O:
if (check (row,col+1,M)==1)
return 1;
break;
case 1:
if (check (row-1,col,M)==1)
return 1;
break;
case 2:
if (check (row,col-1,M)==1)
return 1;

break;

case 3:
if (check (row+1l,col,M)==1)
return 1;
break;
}
*d=(*d+1) %4;
EcArar 2
}

return 0;

print ( Map, N, M) {
for ( 1=0;i<N;i++) {
for ( 3=0;J<M; j++) {
printf ("%d ", * (Map+i*M+7)) ;
}

printf ("\n") ;




N, M;
Map=calloc (100,
assert (Map!=

pos[2];

clg

path=0;
scanf ("%d %d", &N, &M) ;
scanf("%d %d %d", &pos[0], &pos[1],&d) ;
for ( 1=0; i<N;i++) {

3=0; J<M; J++) {

scanf ("%d",Map+M*i+7j) ;

while(1) {

sweep(pos,M) ;

if (search(pos, &d,M)) {

move (pos, &d) ;
path++;
}

elsef

reverse(pos, &d) ;

if (check(pos[0],pos[1l],M)==
path++;

else

break;

}
printf("\n") ;

printf("%d $d\n", total,path) ;
print (Map,N,M) ;

free (Map) ;

return 0;
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print current state(

done[], length)
{
= 0; i < length;
(done[1])
printf ("%c ", arr[i]);
else
printf (" ");
printf ("\n") ;

it++)

return

Cr
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num try = 0; num try < length*2 && count < length;num try++)

printf ("[%d]: ", num try);
guess = getchar () ;
for ( i = 0; 1 < length; i++) {
main ( ) |

if (done[i] !'= 0)
answer [MAX] ;

continue;
done [MAX] = {0, };

count = 0;

if (answer[i] == to lowercase (guess) ||
length = 0;

answer [1] == to uppercase (guess)) {

done[i] = 1;

num_ try;

guess;
’ COUMETFF 2

break;
while ((guess = getchar()) != '\n'")

{

answer [length++] = guess;

}

print current state(answer, done, length);

getchar () ;
}

if (count == length) printf ("Success\n");
else printf ("Fail\n");

return O;




#include <stdio.h>
ch[11l] = {0};
result [11]

search ( length)

for ( jJ = 0; j < length;
if (¢ <= '72"

if (ch[j]

&& c >=
= @) {

result [J] = c;

VAI)

chl[j] = -1;

return 1;
(ch[7]
result []J] = c

ch[j] = -1;

else 1if

return 1;

{
J++)

{

{

el
if

}

return

se if (c <=
(chlj] ==
result [j]
ch[j] = -1;
return 1;
else if
result [j] =
chlj] = -1;

return 1;

0;

)

= C;

(ch[j]

©

{

-
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AT
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for ( k < length; kt++) {

if (result[k] == 0)

printf (" ");

scanf ("%s", ch);

getchar () ; else
printf ("$c ", result [k]);

length = 0;

while (ch[length] != '\0'") {
getchar () ;

llengtheh?
printf ("\n");

if (cnt == length) {
printf ("Success\n") ;
for ( i =20; 1 < 2 * length; it++) { return 0;

printf ("[%d]: ", 1);
}

c = getchar () ;
printf ("Fail\n") ;

if (search (c, return O0;

@ arar g




#include <stdio.h> for ( i = 0; 1 < index * 2; i++) {
printf (" [%d]:

#define c = getchar () ;

{ if (! (getchar () < 'z' && getchar () < 'A'

main ( )
word [MAX LENGTH] ;
c: getchar () > 'Z"'))
index = 0; continue;
success [MAX LENGTH] = {0, };

for ( j ° 3 index; j++) {
if (success[j])
while ((c = getchar ()) != '\n') { continue;

word [index++] = c;
(c >= 'a' <= 'z' && (c == word([]j] |
c - 'a' + 'A'" == word([j]) || c >= 'A' && c<= 'Z' &&
matched = 0; (c == word[j] || c¢c - "A'" + 'a' == word([]j])) {
success [J] = 1;
matched++;

break;




J < index;

(success[]]

printf ("%c ",

printf (" ");

printf ("\n") ;

== 1)
word[J]) ;

if (matched == index)

printf ("S

return O;

printf ("Fail\n") ;

return O;
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#include <stdio.h>

char c ‘p, EXI‘,ZI,OI %O{%% #define 64

main (

char=* str || 0x402004

YIJ".

E‘xl'% *[75|' ",Ic'i’ * str = "ProgrammingPractice2022";
v £ Jlalzict
printf ("$p\n", str); make -S
str[0] = str[1] @ str[2] str[22] str[23] _/main
P’ v ‘0’ 2 \0’ 0x402004



A

- U3 OAlE 2ot DHX|9 ZAt9| indexs FSali&AlL.

- strlen()2 A9 20| o= YLt

#include <stdio.h>

#include <string.h>

main ( argc, * argv

* str = "Any last words?";

index = strlen(str) + @

printf ("$c\n", str[index]);
}




. FyEe -1 Yuc
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strlen(str) ==
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index 0 1 2 14 15



}

asciiNul = '"\O0';

zero = 0;

zeroChar = '0';

return O;

72
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zeroChar= 0x308]

p 3=
HA 2



#include <stdio.h>

#define - /main

ProgrammingPractice
ProgrammingPractice

main ()
str [MAX];
scanf ("%$s", str);

printf ("$s\n", str);

return 0;




.« J™-CHH 221 ZOIE 2 2|5t {E7t27?

. HAHOR 22|g|| YALICEH of 1ENR?

#include <stdio.h> make =S
#define ./main
ProgrammingPractice
e () (null)

¥ STEg
scanf ("%$s", str);

printf ("$s\n", str);

return 0;




#include <stdio.h>

#include <memory.h>

#define ProgrammingPractice
ProgrammingPractice

main () {
*str = malloc (

scanf ("$s", str);

printf ("$s\n", str);

free (str) ;

return O;




=AtSE Library

string.h) library 2| 25 7|s== AFE6HE

strlene &4} Z

#include <stdio.h>
#include <string.h>
#define

main () {
*str ptr = "Software is a great combination between artistry and engineering. -- Bill Gates";
str arr[MAX] = "Software is a great combination between artistry and engineering. -- Bill Gates";
printf ("$d\n", strlen(str ptr));
printf ("$d\n", strlen(str arr));

return O;




=AtSE Library

- strcmpe F /i8] 2AIE0| £2A] THE +~ USLIL
- 5 BAEO0| 228 02 return ot11, 24| ¢t2 ZR0l|= 00| ot

- str10]| 21 AL0|= 12 return ot1,

« str27t 2l AR20|= -12 return LTt

strcmp ( strl,



=AtSE Library

« Ozl O|AH|= E35l strcmpS AFEoHSA|CE.

e str1d}str2e Z28 =2 00|, str12} str32 Ct=8 2 10| 4 El L LY

e PR L P make -s
lnclude <stdio.n- ,/main

strcmp(Programming, Programming) = 0

#include <string.h> . T
strcmp(Programming, Programing) = 1

main () {
*strl "Programming";
*str2 = "Programming";
*str3 = "Programing";
printf ("strcmp (%s, % %d\n", strl, str2, strcmp(strl, str2));
printf ("strcmp (%s, % $d\n", strl, str3, strcmp(strl, str3));

return 0;




=AtSE Library

- strcpy= AFESHSEAICEH

strcpy ( origin);

#include <stdio.h>
#include <string.h>

#define

) |
org[] = "Programming Practice 2022";
dst [MAX] ;
strcpy (dst, orqg);

printf ("$s\n", dst);

return O;




=A< Library

strcpy= orgOl| A NULLZAIFR| £ AFEHL|CY.

index 0 1 2 22 23 24 25 26 27 127
‘"' ‘v ‘a° ‘0’ ok X \O’
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dst ‘p’</ eV oV N o N N gV g \O \0 \O
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a[0]
101

c[0]

7|=

a[1]

121

c[1]

a[2]

101

c[2]

e

c[3]
\0’

#include

#include

<stdio.h>

<string.h>

main ( ) |

= {101, 121, 101};

TA0 LR | \ \J
{'e', Yo ey

cl[4]

a_ len

c len
printf ("%d: ", a len);
for ( i 0; 1 < a len;
printf ("%c", al[il):

printf ("\n");

printf ("sd:

$s\n", c len, c);

return 0;

i++)
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#include <stdio.h>

#include <string.h>

isPalindrome ( str[]) { scanf ("%s", c);
isPalindrome (c) ;

printf ("$1lu %$s\n", strlen(str), str);

./main

eye

eye is a palindrome
./main

gag

gag is a palindrome
./main

apple

apple is not a palindrome
./main

horse

horse is not a palindrome
./main

saippuakivikauppias

saippuakivikauppias is a palindrome




left

right = strlen(str) - 1;

while (right > left)

{
if (str[left++] !'= str[right--1)
{

printf ("%$s is not a palindrome\n",

return;

}

printf ("%$s is a palindrome\n", str);

str) ;
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#include <stdio.h>
param as empty array ( strl[])
param as empty array ("Programming Practice");
printf ("$s %p %$lu\n", str, str, ¢ param as array ("Programming Practice");
param as pointer ("Programming Practice");
param as_array ( str[20])
return 0;

printf ("%$s %p %lu\n", str, str,

make -s Q
./main
Programming Practice 0x40200f 8
PELBLE (R o L, B, BEL, ' Programming Practice 0x40200f 8
Programming Practice 0x40200f 8

param as pointer ( str)




o

str) ;

d4-123

o
-
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“100”

atoil
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=
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my_atoi() (10 mins)
» <stdlib.h>2] atoi() ArE Ol

#include <stdio.h>

#include <stdlib.h>

main ( ) |
* strl "123";
* str2 = "-100";
numl atoi(strl);

num?2 atoi (str2);

printf ("$d\n", numl+num2) ;

return 0;

}




10 mins)

(

i)

my_atol

my_atoi()

L
(-

f

o

I return




my_atoi() (10 mins)

lio.h>

#include <memory.h>

#define

my atoi (

malloc (

malloc (

strl);
, str2);

valuel my atoi(strl);

value2 = my atoi (str2);
printf ("$d\n", valuel+value?2);

return O;



my_atoi() (10 mins)

#include <stdio.h>
#include <memory.h>

#define
my atoi (

res =

sign

str[i] !'= '"\0'; i++)

res * 10 + str[i] -

return sign * res;

malloc (

malloc (

strl);
str2);

valuel my atoi(strl);

value2 = my atoi(str2);
printf ("$d\n", valuel+value?2);

return O;




Pointer to an Array
« 1D Array= single pointerZ x{2| 3 2L|7}
« 2D Array= double pointer2 2|7} 7ts<7tR?

- LS OlAIS Z2AIAH SAIL

#include <stdio.h>

main ( argc, argv([]) {

n{2][2] = {{1, 2}, {3, 4}};

**p = numArr;

printf ("$d\n", p[0][0]);
}




Pointer to an Array
int =9} int[2][2]2] EFRI0] C2CHs Zmot EhAlist D
HELRI0]| seg fault Of|2{7 S &rL|CY.
2219l B2 EOIE{of Goad® Cheat 20| sfoFstLCt

A2 (+22UE0|F)[7I=37]] pEEEEIN

N

=, 7123717t 22 8 E (int [2])= 7tel7|= ZAH YL

HHB (S 7tel7|=) ZUEY LT (not ZRIE HiE)



Pointer to an Array

+ Ol ZE= COM S7tse FEROIA| 2 7 E A

—




Pointer to an Array
. 2X2 HHS Oi|A|0fl O|OJ M 2X3 O 2 AlasliE A& LI}

- Ol OA| S 2ol 2 M2
#include <stdio.h>
arr[2][3] = {{100, 200, 300}, {400,
500, 600}1};
printArray(arr) ;

}

printArray (
for ( i=0; 1< 2; i++) {

for ( 3 =0; 3 < 3; j++)

printf ("$d", pli]l[3]);

if (3 = 2)

make -s

printf (" "),
./main

100 200 300

741010 Y 010 41 010)

}
printf ("\n") ;
}

return 0;

}




Pointer to an Array
Cte 2t 24o| 5t3 gLt

printArray ( (*p) [31);

123717t 32 = 7hel7|= Z2lE

Zt237]|: 3
4 = A
0 1 2
(*p) [3] 0— 100 200 300

1 400 500 600



Pointer to an Array
. 22 O|A = LA CHA| AlSH3HEA|CtH
. 10| 2t 23g|= ZHS o & YBL|C

#include <stdio.h>

main ( argc, argv([]) |
numArr [2] [2] Wl 25, 18, A%

(*numPtr) [2] NnumArr;

printf ("$d\n", numPtr[0][0]);
}




Pointer to an Array

- St PH2= 3AAH HIE 2 teAE dEY + UL

#include <stdio.h> main ( ) | :
./main

arr(z] 31141 [= 100 200 300 400

printArrayl( (*p) [31[41)] { ({100, 200, 300, 400}, 500 600 700 800
for ( i=0; i < 2; i++) { {500, 600, 700, 800}, 1 100 J K0 010 i 00 I 24 0] 0)
for ( 1 =0; 3 < 3; 3t+) { {900, 1000, 1100, 1200}}, 1300 1400 1500 1600

. _ 0. : 1700 1800 1900 2000
for ( k = 0; k < 4; k++) { {{1300, 1400, 1500, 1600}, 2100 2200 2300 2400

printf ("$4d", plil[j]1(k]); {1700, 1800, 1900, 2000}, D
if (k != 4) {2100, 2200, 2300, 2400}}
printf (" ") ; ¥

} printArray (arr) ;

printf ("\n") ;

}

return 0;




Array of Pointers

. Array of Pointers, ZOIE{ H{H 2

#include <stdio.h>
main ( argc, argv([]) |
number 1 = 1, number 2 = 2, number 3 = 3;

*arr[3] = {&number 1, &number 2, &number 3};

array length = (arr) / (arr[0]);

for ( i =0; i < array length; i++) {

printf ("$d\n", *arr[il):;




Array of Pointers

. OFHOIM arrE int * (pointer)E 37l 71X = YL (array) & L|C}.

. *arr[3];

. OFNOIA arrE int [3] (array)S 712|7|= * (pointer) L|C}.

. (
. EIHRI7} SZRICH, HARILCH

—

*arr) [3];

- EQUH HIE'2 FadUSS A&t
HOo| A

- BHE “EQUE"= i



Array of Pointers - argv

-  main &= parameterZ int argc?t char *argv[]S g+& L Ct

- argce main()ofl == §29| 7L L.

- char *argv[]= dE&l= W& Uy,

make -s
./main
[1] items
./main
./main Programming Practice

#include <stdio.h>

main ( argc, argv([]) |

[3] items
./main
Programming
Practice

for ( i =0; 1 < argc; i++) {

printf ("%s\n", argv([i]);
}

return 0O;




Array of Pointers - argv
argve| AR data= T2 2H0| Al A2 =2 DA E|O

console &0 21 O|A|S 2Hddl EMR.



=
EOJE'l - —rﬁ
+ HOIE{E CPUQF T 22|0| S2tof| ChFt O|sH7t HREHL|CH,
+ Orefl Gg= Olaho| =5 2 4 USLIEL

A
. 0213 QN OAISS HBEIIBIA £0f AF MR

n

Central
Processing
| Unit

&1 ZHS LHHE 9l 2ol HEl=
&5 @ == DRAMYL|CE.

computadora y, una vez que comprenda cémo funciona

How a CPU Works How computer memory works

hitps://voutu be/cNN_1TXABUA https://yvoutu be/p3ag5z2WCw8J4



https://youtu.be/p3q5zWCw8J4
https://youtu.be/cNN_tTXABUA
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3D & & At0|e] A2l - A= (10 mins)
3R &7k 4 A =N [

sUdel = 8 ¢l HelE A
VA

1) P2(X2 Y2 22)7t FHHS W He| d= LS

(X2, Y2, Z2)

d= /(T2 — 551)2 + (12 — y1)2 + (23— z1)2 /



3D = &8 At0[2] A2

- Y AL0|AZ A7 E Ha 67

g.
. A ZE2EXT Y1 Z1 X2 Y2 72 O SHEsict

. e.g.10.25 mj{‘;:igs
N RV CNCIECIRIET 7 4 3 17 6 2

10725




_12|11 O 5 g0l MEolM HelS ALt E == B AICEH

root 242 <math.h> 20|E2{2|2| sqrt()E O|&aff 7+ 4 USL|Ct.

sqrt ( X);



3D = &8 At0[2] A2

. int coords[2][3]& getDistance()2Q| QA= HE5t2{H?

_ -

ZI237|: 3
A
( N\
X Y Y4
7 4 3




#include <stdio.h>
#include <math.h>
coords|[2][31;
getDistance ( (*coords) [3])
scanf ("%$d %d %d %d %d %d", &coords[0][O0],
&coords[0][1], &coords[0][2], &coords[1l]([O0],

return &coords[1][1], &coords[1l][2]);

printf ("$.21f\n", getDistance (coords)) ;

return O;




3D = & AtO|e] AHel - ol

getDistance ( (*coords) [3])

x diff = coords[0] [0] coords[1][0];
y diff = coords[0][1] coords[1][1]1;

z diff = coords[0] [2] coords[1]1[2]1;
return sqrt(x diff*x diff+y diff*y diff+z diff*z diff);




3D += 8 AtO[2] A<

- IO HICZ2E SH=7tR?

main () {
coords[2][3];
scanf ("%$d %d %$d %d %$d %d", &coords[0][0], &coords[0][1],
&coords[0] [2], &coords[1l][0], &coords[l][1l], &coords[1l][2]):

return sqrt(x * x + y *yv + z * z);

("$.21f\n", getDistance(p))

return O;




3D += 8 AtO[2] A<

. HOIE BIYZ2 T Z0{27t2?

getDistance ( pl6l) { main () {

x = *p[0] - *p[3]; coords[2][3];

y = *pl[l] - *pl[4]; scanf ("%d %d %d %d %d %d", &coords[0][0], &coords[O][1],

z = *p[2] - *p[5]; &coords[0] [2], &coords[1l][0], &coords[l][1l], &coords[1l][2]):
return sqgrt (x X + g *pl6];

&coords [0

&coords|[0 2

’

Il

&coords [0

’

&coords|[1

’

&coords|[1

0]
1]
2]
0]
1]
2]

11
11
11
11
11
11

’

&coords|[1
("$.21f\n", getDistance (p))

return O;
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Pico 2048 (15+a mins)
2048 Y= OfA[LIR?
https://play2048 .co/
hitps://aithub.com/gabrielecirulli/2048

4190.103A-001: Programming Practice | Spring 2022 | Jin-Soo Kim (jinsoo.kim@snu.ac.kr)

oin the numbers and get to the

Youwm|
16 2048 16

78


https://play2048.co/
https://github.com/gabrielecirulli/2048

Pico 2048

4190.103A-001: Programming Practice | Spring 2022 | Jin-Soo Kim (jinsoo.kim@snu.ac.kr)
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Pico 2048

2X4A7|9| HAE 2048 A& == 2L L.

otz 2|t 3 S4Y= Sl oid ZRUAM L= = XU
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- H|OF: 0|Z A|AHE M2 20| 27153 &2

Le O
= 875 A5 ool 2[4t Y= dHNEM K.
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Pico 2048
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Pico 2048

« 1X4 1D array 0| A

-l

— (LEFTZ 0| =)

B

— (LEFTZ 0| =)

H B

— (RIGHT 0|&)

H -

-  move_to_right()

-« move_to left()




Pico 2048

- 1X4 1D move_to_left Of|A|

U
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Pico 2048

1X4 1D move_to_left Of|A]|
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Pico 2048

1X4 1D move_to_left Of|A]|

N $

j= j+12} 8| s A grol &1, ol
Eofl M TSt Zo| glo™ H At 2

°
0% rE

4 2 0 2 4 2 0
i+1 indeX01|A‘| Al&!‘ (20|D|_:| 3) 4 Zs:gn_iio 0
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Pico 2048 - 1D Array

#define

#include <memory.h> memset ( (

#include <stdio.h> for (

continue;
for ( ] i ; J < size; j++)
if j ;] - 1] && v[j] ==
printlDArray () {
for ( i = 0; i < size; i++)
printf ("%d ", alil):;
printf ("\n") ;

printlDArray () ;

{
)




Pico 2048 - 1D Array

move to left ( ) |
memset ( ( v, 0, 2 for i ; 1 < size; i++)
( i = 1;
(afi] == 0) {

continue; printlDArray () ;

i < size; 1i++)

move to left ();

move to left ()

move to right ();

printlDArray () ;




Pico 2048

O MHES HIEIO 2 2X4 2D array O|A|IE SO0 EA|C}

"

move_to_right()
move to_left()
move_to_up()

move to_down()
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Ol= ztzt Cteof sigBiCh AlZH 21 21 A|Zh 82 %2 make -s
« O|A[: 1334 558 12 15 (A|ZH1 13:34:55, A[Z+2 8:12:15) ./main
i ) i 13 34 55 8 12 15
S AN AIZR2] 20| (M| E22E E2()22 #1&8) 5:22:40
- O|A]: 5:22:40 I
« RU1ARBZ L™ E main &4 0[]0 e4E MESH AZHS A LHE 2
RU2: 24MTUH R LY =l
U3 HZ S0 e AlZ0| S0 S0 2= A|ZH 20 30t 7Hysict



AZE AH4F - Template
differenceBetweenTimePeriod (
main () {
start[3];
stop[3];

diff[3];

scanf ("%d %d %d", &start[0], &start[l], &start([2]):;
scanf ("%$d %d %d", &stop[0], &stopl[l]l, &stopl2]);

differenceBetweenTimePeriod (start, stop, diff);

printf ("%d:%02d:%02d\n", diff[0], diff[l], diff[2]);

return O;
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Anagram T N/ SNA
Anagram O|2t? ; A ‘ “H INT E' Al
- CHOjLt 242 g5t e A2 =AM E HHH0] CHE TojLt 232 BtE= =0|

a~z, A~Z 'H2| Q| charactere= Y222 8tg| Anagram THHO| 1
2t F2tE 0| 2| Z0|= null character Z£gt5t04 640|Ct,
=3 AnagramO|&H “true” OfL|™H “false” =&

- “false "2} “false”. “true "2} “true”= Ct2 2Rt QIL|CH



./main

/\ =z
Nagram El' =

— L_ - Dormitory
. anagram THHO|= 28 EL2L D451 oD U} oy Roon

P

@

=
./main
2 1 ‘A e Dormitories
0. ( -e-, Agl- d T Dirty Room
false

. UTIo| A0 AL

N

I'-III
>.

./main
° TC Listen
. Silent
Dirty Room” =) True true

./main

» €«

“‘Dormitory”,

. » I am Lord Voldemort

Tom Marvolo Riddle” =) true Tom Marvolo Riddle
true

« “O! DRACONIAN DEVIL”, “LEONARDO DA VINCI” =) true -/main

0! DRACONIAN DEVIL

+ “OLIVE DECO”, “I LOVE CODE” =) true g L
./matin

« “Listen”, “Silent” =) true OLIVE DECO
I LOVE CODE

. false 2R TCE 214 MM HIAESIEMS. Y

»” [3

« “l am Lord Voldemort”,
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#define

#define

#include <stdio.h>

isAnagram (

main () {

arrl [MAX], arr2[MAX];

count;

scanf (" %[*\n]", arrl);

scanf (" $["\n]", arr2);
isAnagram(arrl, arr2);

return 0;
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